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salall Matter

.................. 9‘3@‘—&“\—1&@\&34&&&3}@&5
08 LS (Saa — (walall g o slll g A A ddbid Falal) o da

Matter different in shape , color and texture.

matter = material= substance 4l similar WS different 4 daglaa

Jlamd) gl i i (Sae

Complete:

Matters are different in .............. ) eeeeesesennnns and .............
g1 565 slall g AalEil o 58N
gas 4 & 3ala ¢ 5¢dl — liquid Adibw 33la slall - solid Ala 3ala Aalidl)
States of matter 33kl <l e Solid , liquid and gas
Y 3aaly alS States of matter
X 58 LgiSh (Saa

Matter exist in 3 states are Solid, liguid and gas

mass and volume a9 05 W 0ssi o) matter 3 csbod S8 68 e AN
(&) matter J8 iy ad i o) (¥ adalid

Matter: it is everything that has mass and volume
o) gl b i (Sae

Complete: Matter has .................. and ..................

Matters are similar in having ............... and ................

—
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Define — What is meant by —i_xil) sa g ALuY) (e £ o AU AU

What is meant by — Define iyl e

Matter
Answer:

Matter: it is everything that has mass and volume

Write scientific term  alad) zllaaall ga g AL (e £ 63 GG 38U

(32 o) Laglrall o2d cualia élia Gtk g da glra ey o) iy jal) (use Asluay JS;

Write scientific term

It is everything that has mass and volume ( ......c......... )

matter A& adalls 4y

Bala (1 awdl) 4 giagla Jlala 9 MaAsSS G asgde Ao (V) G ad
(... S Y — &Y ) Balal) dpas LW Joly () pal) £ amind) Linua g ol Dia
(4zas) mass J uiy i e o () gl

Mass: It is the amount of matter in an object
aeddl Alidy A el — il laBa g8 Volume pdadl asgda Ao ¥ Gl
dana iy 13gd (e gl Saa Jrdy e K1) Diad
Volume J iyl daad o) oY) aolalios

Volume: it is the space occupied by a matter

—

POV PPV IIIIIIITITIIIIIPIPIPIOIIIIIIIIOOEE
PO PPV IOV E



o) Giglan s (Saa

Write scientific term

1- It is everything that has mass and volume ( ........... )
2- It is the amount of matter in an object (......c.......... )
3- it is the space occupied by a matter ( ................... )

Answer: matter — mass — volume

What is meant by — Define

Give reason gl kel — Jio 1 adl ) Jligusd)
\ia! Give reason: (Why )

Because ¥ = la) 4ay) aie
1- Air is a matter ?
Because it has mass and volume
2- A car has volume?

Because it occupies space

iy il e AgaY)

—“



Correct ( gawa )osaddl J) sl

Correct:
1- Matter has mass and length
2- Matter differ in shape , volume and texture

3- Mass is the space occupied by an object

Answer volume - color - volume

Matter: it is everything that has mass and volume

Volume: it is the space occupied by a matter

volume J's matter J) «iimd (m

Matter: it is everything that has mass and occupied space

volume J) iy a5 LgilSa Llial g volume  4wlS Lidia

Write scientific term

1- It is everything that has mass and volume ( ........... )
2- It is the amount of matter in an object (.......ccevvntne. )
3- It is the space occupied by a matter ( ................... )
4- It is everything that has mass and occupied space (....... )

~
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volume axadl -y

asalia ¥ o (i il o) AY matter 4wl Al

mass (J8 -Y length Jskll-)

sk Jad A g measure e 132 daga dals dllia

1- Lenqgth

When you buy cloths the seller asks about_length
Jehll oo adlal) elilay Lalall el Jd sic
Ot G ABlucall — Juadl) — QUISY) — AL8Y) gl il LS

| tape gusa by ydl gl —Ruler 8 heall addid Jf gk (bl
measuring tools o«bdll & ga) audy

measuring units asds cm — meter - km  :<laa g J)sh¥) (s g

Measuring tools

Measuring units

dLia) Examples

Ruler

Cm for measuring
small length

Length of pen - book

Tape

meter for measuring
large(big) length

Length of classroom

Km for measuring very
large length

Length between Cairo
and Alex.

1 meter =100 cm

LY @S unit dals 83 i Jigd) Ao Ll die dals A sale
cm,meter or km
Ruler or tape ¢! tools ¢» &Y oS unit JS3 ais e

1 Km = 1000 meter

[0}
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Write scientific term

1- A unit used to measure the small length.
2- A unit used to measure the dimension of your classroom
3- A tool used to measure the small length.
4- A tool used to measure the large length.

Answer:
1-Cm 2- meter 3- Ruler 4-Tape

1- Complete :-
1- We measure the length of objects by using ........... y raereaneas

2- The units of measuring length are ........ y rreeaneaans ) remeeen.s :

3- 2Meters = ...cvvinennnn. centimeters.

4- 3Kilometers = ............... meters.

5- The measuring unit of the small lengths is ............... . while
The measuring unit of the large lengths is ................. :

6- The distance between Cairo and Alexandriais measured by

unit of coe.oeeaet.s

Answers:

1- Ruler — tape 2- Cm — meter — Km
3- 200 4- 3000

5- Cm — meter 6- Km

measure = estimate (t# ~> Body = object

P
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did g o) duad) gl aladiu s bl ) geud)

Give one use — importance — function — benefit

1- Measuring ruler — measuring tape:

Answer: it used to measure length of body

2- Kilometer — centimeter - meter:

Answer: unit of measuring length of body

<



i
$
@
@
¢
¢

POV PPV IIIIIIITITIIIIIPIPIPIOIIIIIIIIOOEE

2- Mass

When you buy fruits the seller asks about_mass
3N ¢ all el dgSill i) 1 xic

Sensitive balance

Balance &)l adiui mass ¢l owbil

Oomall le o8 Sllia g
Common balance ¢l &) jaall -9

(@Al ) ubeaald) &l jpal) -

measuring tools g«bdll & ga) audy

There are two types of balances:

Common balance - Sensitive balance

DJSLQ_.C\S.I.QSAA

measuring units asis gm — Kg - Ton <l g &l gl

Measuring tools

Measuring units

dLia) Examples

Sensitive balance

Cm for measuring
small mass

Gold - Jewels —

chemicals
dilhasS M ga — a5

Common balance

Kg for measuring
large mass

Fruits — vegetables -
cheese

Ton for measuring
very large mass

Cars

1 Kg =1000 gm
2Kg = 2000 gm

1 Ton =1000 Kg
2 Ton = 2000 Kg

mass Wliss — Jigud) & weight 4als addiug Ubal

Lale 4885 52 daglaa A 4l

>
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1- Complete the following:-

1- To measure weight (mass) of vegetables or cheese we use
2-We USe .covvviniieiiiiceeaea, to measure the mass of chemical in
lab and things made of gold.

3- We measure the mass of objects by using ....cccvvveeeennne. .
4- There are two types of balances ......cccccevuee..e. ) weeeeeaneeennees :
5- 2Kilograms = ............ grams and 1 ton =............. kilograms.
Answer:

1- Common balance 2- Sensitive balance 3- Common balance
4- Common balance and Sensitive balance

5- 2000 - 1000
2- Write the scientific term:-

1- A tool used to measure the mass of gold and chemicals
2- A unit used to measure the small mass as jewellery.

3- A unit used to measure the mass of very large objects.
4- A tool used to measure the mass of Fruits.

Answer:
2- Sensitive balance 2-gm 3-Ton

4- Common balance
mass  length - & b J sl 48 aa (0 4 dala A sale

unit 9 tool ¢ Jles J) gl 48 2 Cpa &Y

D
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3- Volume
When you buy milk or oil the seller asks about_ Volume
paal) (o adll) el 4y jlad) ey g pdial) g iy 31 g) ol il i 2l
(P ALY - A

Graduated Cylinder gusall jidall axdied Volume aaadl (ubsdl
Measuring tools iy Ruler 8 kwall g

Graduated = measuring

Measuring Cylinder
Ruler aadiud dag Measuring cylinder adddiud Jda

Liquids Jilgudl aaall (uld 3 asdiey Measuring cylinder
oaal) Jia A Aadiiia yad) Llaall aluadd anal) (ubd B Ll addiau g
Irreqular solid body as stone

OJSLG_.\;SJQSAA
Measuring cylinder measure volume of liquids (water)
and irregular solid body (stone)

e — st Jia daliiial) Abal) aluadl anall (wld b aadics Ruler
Clamaall — Llagd)

oS Le s (1Saa
Ruler measure volume of regular solid body

—
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sy Cm® —m?® — Liter — milliliter :<dags volume J galdsg

measuring units

Cm® . Liter and milliliter : measure volume of liquids
Cm® ., m®: measure volume of solid body

cubiccm Cm?d

Measuring tools

Measuring units

i) Examples

Measuring Cylinder

(regular body)

(liquid — irregular body) Cm® - Liter Liquids - stone
Ruler Cm®*-m? Cube — book - Cuboid

1 Liter =1000 Cm®

1 Liter = 1000 milliliter

Regular body akiils ama ada (ubdl Ruler adddud ciss

-

/ Width

|-- -Length ‘—1 h

Cuboid

i [ |
o Height

To measure volume of cuboid by a ruler

Calculate its volume.

POV PPV IIIIIIITITIIIIIPIPIPIOIIIIIIIIOOEE

Volume of cuboid = Length X Width X Height

—
—

Example: A cuboid has length 5cm , width 3cm and height 4cm

Answer: Volume=LXWXH=5X3 X4=60cm’

PO PPV IOV E



slall Jia Jiled aaall (bl Measuring cylinder adiicd cisS

To measure volume of liquid by Measuring cylinder

A
- w(A)
80
e »(C)
30
20
Water — &

measuring cylinder J! (& i water — liquid slall (e 43S ana (il
C Adalll) dic J88) ola) B (s 4y )l g
The volume of water = 40 Cm’

88 olad) A 4y 0 The vision must be in horizontal direction

—
—



Jia JSAl) aliila & acaad aaall (WUAl Measuring cylinder adddd CiS
aall

To measure volume of irregular body by Measuring cylinder

As stone

V; damiy aaall udiy Measuring cylinder 2 slall (1 duaS guiai

V, Aracd g anal) Gy Jdo¥ slall adl 8 slall L& stone J) g
The volume of stone=V, -V, =........ cm

The volume of stone = 70 — 50 = 20 cm®

Example: the Measuring cylinder has 50 Cm® of water, when put
stone in water it raises into 90 Cm’. Find the volume of stone.

The volume of stone=V, -V, =........ cm’

The volume of stone = 90 — 50 = 40 cm®

—



J) 4gd aual g slally ¢ slas Measuring cylinder CsS; Ladis dala 423 sale
stone J pa> s spilled < gSwall slall aaa (L8 stone

The volume of stone = the volume of spilled water

ol agd paadl e AV g @dad) e Ladlaa) Gpmsa G jaal) £ ki Lasie
Al cra JEB paald) (59 &) Badl anal)

Iron cube has higher mass than wood cube
cilida 5ol Gld Adlidal) 3) gall anal) 5 gladi a8 ) BadS
Equal volume of different substances have different masses

1- Complete the following:-
1- The volume of liquid is measured by ...cccveevviennnnnnnn.
2- The volume of stone or irregular body is measured by

4- Equal volume of different substances has ................ mass.
5- The measuring unit of the volume of liquid is ..............

—
~
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silall States of matter

States of matter 83l ¥l .l Solid , liquid and gas
¥ 3aaly alS States of matter
A ¢ 048 Lguisi fSaa

Matter exist in 3 states are Solid , liquid and gas

4% Examples

Solid state liquid state gaseous state
ice — sugar water - oil air — oxygen
Iron - copper milk -mercury water vapor
Wood - salt benzene alcohol nitrogen — carbon dioxide

Sagagill A& 353 mercury - J Kerosene
liquid .5 water slal) : jaa daga 4k gala
solid G589 ice LS 22019
gaseous .2 water vapor ske Jis 325

Complete: Jyad qglad i ad (Saa

POV PPV IIIIIIITITIIIIIPIPIPIOIIIIIIIIOOEE

1- There are ...cccvveevnnennns states of matter

2-lronand............... are examples for solid matter

3- Water and ............... are examples for liquid matter

4- Oxygen and ............... are examples for gaseous matter ®

5- Kerosene is example for ................ Matter ®

6- Copper is example for .................... matter :

7- Air is example for .................... matter ®

Answer: :

1-3 2-wood 3-o0il 4-air 5-liquid 6-solid 7-gas :

yo
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1 daga A3 gala
molecules — particles Slija (ool 3 pua Clia g (e (985 Matter
0aS Lgis] QSAA

Matter consists of small units called molecules or particles

solid — liquid — gas & 4% molecules JS& Ja : Jliw

A JS L2 molecules JS& Ao i o) 4 i) o quglad S

Solid molecules Liquid molecules Gases molecules
are packed very closely together are far from each other are very far from each other

o O

5_sade — 4Sulaia Molecules of solid are very close
sxeliia Molecules of liquid are far from each other
laa 3aslie Molecules of gas are very far from each other

Complete: Jlsadl glad i ad (Saa

1- Matter consists of small building units called ................. or particles

2- Molecules of ................. are very closed , butin.................
are very far

Answer: 1- molecules 2-solid -gas
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solid — liquid — gas - 243 aaa g ddae JSG da g3 JA ) Qi

Aaa aaa Jralag— ddae JS4 Jralag Abild) aaliad) (E8LS S

Lgia ilecian e (5 459 AY) Qi) g ad

;A 9¥) 4y el

sla water 4 cylinder & J» stone &l

— i stone JS4 Ja
slall A g1 Jia cylinder A 2 WIS& -not change % al stone JS& () Badd
definite shape (aw 33aa - <yl JS& Ll stone(solid) ¢ 4l ¢a giliu

DJSLQ_):S.I.QSAA

Solid matter has definite shape
Tawt  Lgana Sia ¢ sSaw cylinder 13 8 Lgaaa Liud gl — 145 stone aaa JA
aaal) udi Lgd o Tau® ¢ L) Lgaaa (158 A cylinder 8 s (il Latis
not change 5 al stone aaa () Badl
definite volume (o 3334 - <l aaa Ll stone(solid) ¢ il (e piiius
oS Letis San

Solid matter has definite shape and definite volume

Activity — Experiment 4 aill o ai S

<l ghill Steps Put a stone in a cylinder contains water

L3l Observation: shape and volume of stone doesn't change

g=iiwd Conclusion: solid matter has definite shape and volume

<



definite = doesn't change )i dage Al gala

Complete: Jlsadl glad i ad (Saa

1-The cveeeeennennee. substance has definite shape and volume
2- There are a definite shape and volume in ............ state (matter)
3- Solids have definite ............... and .........cooevienne.

4- Solids have ............... shape and volume

Answer:

1-solid 2- solid 3- shape and volume 4- definite

Give Reason: Why

1- Gold and copper are solids.
Answer: Because they have definite shape and volume
2- Copper has definite shape and volume

Answer: Because it is a solid matter

>
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Jay) 4itida 3cylinder 2 water 50 cm’ sl g

— & liquid slall Js& Ja
Jashll g sy ol g s il JS&l) 3L 3 4 -change st water JS& o)) Badd

e JSAN Baaa e — il 0 g ol water(liquid) ¢ Agadll (e piiid
take the shape of container 4 ga i ) £UY) J8& 34U — indefinite shape

038 LS (S

Liquids matter has indefinite shape

definite = doesn't change |33 dags dBisala

indefinite shape = take the shape of container

Tawt + lgana Sia ¢ sSaw cylinder 13 8 Lgaaa Liud gl — a5 water aaa QA
a2l i Ll Y Tant s L) lgaaa GgSiw Al cylinder 8 Waaa (il Ladic g
not change 3 al water aaa () BadU

definite volume (sas 3330 - <l aaa Wl water(liquids) O 4 il ¢ i
0aS Lg iy (Sl

Liguids matter has indefinite shape and definite volume

Liquids take the shape of container

—
D
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Activity — Experiment 4 adll oo ad (S

< shdll Steps Put 50 cm® of liquid in 3 different cylinders

Ladi Observation: its shape changes take the shape of container

Its volume doesn't changes

Conclusion: liquid matter has indefinite shape (take shape of container) and
definite volume

Complete: J)ud) glad il (Saa

1-The e substance has definite volume and take
the shape of container

2- There are a indefinite shape and definite volume in ............ state
3- Liquids have definite ............... and indefinite ...................
4- Liquids have ............... shapeand .......coceevinennens volume
Answer:

1-liquids  2-liquids 3- volume and shape 4- indefinite - definite

Give Reason: Why

1- Oil is a liquid.
Answer: Because they have indefinite shape and definite volume
2- Water has indefinite shape and definite volume

Answer: Because it is a liquid matter

—
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Sadsal Ayl B ) daka i — Ay gl skl g — (sl ekl i

LAY 4 i)

224 gases ¢ 9l axa JA — S gases sl ggd) J4 R
o B S AaS o (Say AN i daaa g — (ol JAN —change i air JS& o) Badl
Sl Ay gl JAla )

aaally JSAl) Basna b — cull paa gl J8 ¢! (il air(gases) o Apgadl i peitind
indefinite volume s indefinite shape -~

take the shape and volume of container 3

038 LS (S

Gases matter has indefinite shape and indefinite volume

Gases take the shape and volume of container

Activity — Experiment 4 aill e i i

<l shill Steps Blow air in a balloon — press it by hand

Ladi Observation: the shape and volume of air changes by press on it

Conclusion: gases take shape and volume of container

Gases matter has indefinite shape and indefinite volume

—
—
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Compare between solid, liquid and gases (3 states of matter)

Solids liquids gases
Volume definite definite indefinite
Shape definite indefinite indefinite

Adgld) e glaal) pend ¢Sas

Solid matter has definite shape and definite volume

Liquids matter has indefinite shape and definite volume

Liquids take the shape of container

Gases matter has indefinite shape and indefinite volume

Gases take the shape and volume of container

&aay 13 What happen when Jlssd) ciglad < ad ¢Saa

1- Put water in a glass ( container)

Answer: water takes the shape of glass
2- Blow air in a balloon

Answer: air takes the shape and volume of balloon

—
—~



: Give Reason: Why

: 1- Oxygen is a gaseous matter.

. Answer: Because they have indefinite shape and indefinite volume
: 2- Air has indefinite shape and indefinite volume

: Answer: Because it is a gases matter

®

: Write scientific term

: 1- A state of matter that has definite shape and volume ( ....... )
: 2- A state of matter that has indefinite shape and volume ( ..... )
@ 3- A state of matter that take the shape of container only

:( ............. )

@ 2- A state of matter that take the shape and volume of container
:( ................... )

: Answer: solids — gases - liquids - gases

®

®

®

®

®

®

®

®

®

®

®

®

®

®

®
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matter J) <¥sad (V) (i
Changes of matter
o sgdall RYY PR PPN

s2 one state 33alg Ala & 1) g water Jd — Water 29 matter J Jlia 3AU
Akl Leila o2 liquid s2.9 axd AlaY) — Ladal) 3 )l 4 0

aASl.e_f.sS}QSM

Water exist in only one state at ordinary room temperature

(U S (San — aS) — matter o2 Water

Matter exist in only one state at ordinary room temperature

another state A Al ) state Ala e Jgali o) aabaied water — matter Ja
gas J & liquid ! solid state ¢+ Jsai &) matter gabind Ja Al Jaa

ice (solid) &l Lissa freezing aaly 4ild 38N 8 (liquid) water - cool 3 Lais Ax)
Freezing 4sleall o3 auiy

U ge evaporation JAi 438 jladgd) e (liquid) water - heat (A Ladis g
Evaporation “4xledl 034 iy - water vapor (gas) skl J&s

038 IS iSan

I Matter can changed from one state to another by heating or cooling

Freezing: it is a change of matter from liquid state into solid state by

cooling.

Evaporation: it is a change of matter from liquid state into gaseous state

by heating.

—
~
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water = liquid - ice =solid - water vapor = gas laa 4
Freezing 4as |3 Al A slall Unag L Jia
Evaporation 4laa jladisd) o slall Urd g

Oy ay

Freezing: liquid (water) into solid (ice) by cooling

Evaporation: liquid (water) into gas (water vapor) by heating

48 heat (i A Lile g jce LdA) ol — water (liquid) o ice (solid) Jsas (Saa
Melting 4lesl) 038 ausiy melt Lgal

heating.

Melting: it is a change of matter from solid state into liquid state by ‘

s A« water (liquid) ' water vapor (gas) Js> (Saa

— B, i (98 — slawd! ay Ladie  water vapor (gas)stall JA sy Jala
i< Condensation 4lead) 034 audy water (liquid) laal 4da Ao W J3g

sla ui\ S Jead 4!

state by cooling.

Condensation: it is a change of matter from gaseous state into liquid ‘

Condensation &Sl o dlia) ) cliudas

1- Appearance of water drops on cars and plant leaves in morning
cluall b alidll o pla e jlab

2- Appearance of water drops on cover of tea pot JI_ sUas
3- Appearance of water drops on glass has ice zt 4ala)

—
]
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Give Reason: Why

1- Appearance of water drops on cars and plant leaves in morning
2- Appearance of water drops on cover of tea pot
3- Appearance of water drops on glass has ice

Answer: Due to condensation of water vapor
Due to = Because ¥ - i

What happen when &y )il

1- Put a glass of ice on air
Answer: it makes water drops on glass
2- Put a glass of water in freezer
Answer: it makes ice
339l 215 (L) slall ana (¥ — 3l L8 slally e glaal) dala I i f3Lal
Give reason : A bottle of water broken in freezer

Because ice has large volume than water

2 Epagall padli (Saa

Freezing: it is a change of matter from liquid state into solid state by
cooling.

Melting: it is a change of matter from solid state into liquid state by
heating.

Condensation: it is a change of matter from gaseous state into liquid

state by cooling.

Evaporation: it is a change of matter from liquid state into gaseous state

by heating.

daly 413 gala

Condensation u«s= Evaporation melting o«S¢ Freezing

—
P ¢
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Lesson 3 — Elements around us

Matter consists of small building units called

5 molecules (s 3 ua Glda g (s (985 matter o) L e 1dalia
substance 4alS Lale gkl Ulal g <l

molecules

s<is Element (sl 33l £ o (4 45 sias molecules (585 Ladic

element s¢ oaldll calll (e aia 13) — matter ¢ cadll A4 Jia

oS4 Compound, s £ 65 (e JiS) (e ds gias molecules (5SS Latis

compound s¢ (il g Cadll (ra adia 131 - matter s¢ cadll AW Jia

Element )¢ £ o8 (udim

Matter made of element yaird) (0 aiual 3alal)

Judy) oda N BU element 9 matter (o (8080 i S

—~
<

———— - ——— ———— e

————————

Elements Jiw¥) 85 — matter (A=Y & sludVd

.................. 132 5 element assasy) (m ds gias matter Adaldl)
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Element J) 4! )3 I

&) analyzed-decompose <S84 &) ¢Say ¥ aal g £ ¢ 9S4 Element
matter J 89 ol oa A JS) o) (e o

Element J) < i (Saa

Element: it is the simplest form of matter can't be analyzed (decompose)

into two substances or more

Y VY elements & ) gaAIS) plalall

The scientists have discovered 112 elements |

=< elements Y+ — 2ub elements 4 Y

| 92 elements in nature — 20 artificial (synthesis)elements |

Examples for elements

-

QA Adad el yas S8 pakay
1- Gold - silver — copper — iron — aluminium — mercury - lead
padll <y sl a9 BrU

2- Carbon(coal) — sulphur — bromine - phosphorus

Elements agasan g (V) Al o (1 )AL ¢y (3l

o gl da ja — sl gl g B ) all da Juaga — (Gan A1) ¥ JY) £oill
Metals <38 avw g LeLQdi (Sayg Al AL — Aok o 4512 4

B AL (Jxasill 59)) dase € — (G A oad ) @Y 8 JUll g odll
dudadiia Al g o jlguadl da )3 —(sLgsll 1 Juaga G52 Sl Tasla) sl Sl
Non-metals <318 Y e g Leb&dd (Say ¥y AU AL 2 —

—
>
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Metals and non-metals (x & (4 Elements aswdl LSy Wil )

| Elements can classified into metals and non-metals

Examples for Metals
Solids: Gold - silver — copper — iron — aluminium - lead

Liguid: mercury

liquid 05 mercury )L 4w metals JS

| All metals are solids except mercury which is a liquid

solid and liquid k& (il 3 33 52 se metals J) :4d sala

liquid metal ¥l 22 Mercury

The liquid metal is mercury

Examples for non-metals

Solids: sulphur — carbon(coal - graphite) — phosphorus _ siué
Liquid: Bromine
Gases: Oxygen — Nitrogen

solid, liquid and gas < ¥ & 5393 3« non-metals J) :45 gala

liquid non-metal 44! & Bromine

The liquid non-metal is bromine

—
ry
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£J13A Compare between Metals and nhon-metals

hadd ol 1e<ll Jaua il 22 4383 9 non-metals O3S carbon J) 14dags 4d3 sale

P.O.C Metals Non-metals :
Luster — shining Metals have metallic Non-metals don't have metallic ‘
Olaal luster luster .
M] al.,l,esfbg;\( Metals are malleable Non-metals are not malleable .
S (can be shaped) - ductile (can't be shaped) — not ductile ‘
Conductivity of Non-metals are bad conductor of .
. Metals are good . . .
electricity conductor of electricit electricity except Carbon .
£ LSl Jua g3l y assl lasla 4
Conductivity of Metals are good Non-metals are bad conductor of .
. heat . conductor of heat heat .
3l Jawa sl .
Melting and . . . ‘

- . Metals have high melting | Non-metals have low melting and
boiling points and boiling points boiling points ‘
Sl g Jlad) Ay &p &p ‘
The state Solid - liquid Solid - liquid - gas .
Iron-copper-gold-silver- Carbon(coal-graphite)-sulphur- .

Examples . .

aluminium-lead phosphorus .

| All non-metals are bad conductor of electricity except carbon

POV PPV IIIIIIITITIIIIIPIPIPIOIIIIIIIIOOEE

laela = except Js = All :

low = 4aidis  high = 4l bad = 5. good = i :

Complete: Jgud) @ glad bl (Saa :

1- Metals have .................. melting and boiling points ®

2- [ron and copper have ............... melting and boiling points :

3- Non-metals have .........couueves melting and boiling points ®

4- Carbon and sulphur have ......... melting and boiling points :

5- All metals are solids except ............. Which is ........... :

" ®
POPPPPPPOPPPIPOPIPOPPOOPOOPIIP



6- All non-metals are bad conductor of electricity except ......

7- The liquid metal is ........... but the liquid non-metal is .......
8- Metals are ........... conductor of heat and electricity

9- Non-metals are ........... conductor of heat and electricity
10- Metals are good conductor of ............ and ..............
Answer:

1-high  2- high 3- low 4- low - definite 5- mercury — liquid 6- carbon

7- mercury — bromine 8- good 9- bad 10- heat and electricity

Write scientific term

1- Elements can be malleable and ductile ( ....... )

2- Elements can't be malleable and ductile ( ..... )

3- Elements have metallic luster ( ............. )

4- Elements don't have metallic luster (................... )

Answer: metals — nonmetals — metals — nonmetals

Give Reason: Why

1- Iron and copper are metals.

Answer: Because they good conductor of heat and electricity

2- Carbon and sulphur are non-metals

Answer: Because they bad conductor of heat and electricity

3- Iron used in making bridge — gold and silver used in making jewels
Answer: Because they can be shaped and ductile

4- Carbon used in making battery — dry cell — dry battery

Answer: Because it good conductor of electricity

5- Mercury used in making thermometer

Answer: Because it good conductor of heat
)



5aild — cilaladiicud g dsar|

Uses — importance — benefit of metals and non-metals:

s sl Al ax ool Baast
1-Iron: used in bridges — car chassis (frame) —street light
Bl gl 8 S — agaia gl (39

2- Aluminium: used in cooking pans (pots) — doorknobs —foil
electric wires sb_gsdl &

)R g Gl g<sal)
3- Gold and silver: used in jewels — furniture decoration

£ g el

4- Copper: used in electric wires — coins

5- Mercury: used in thermometer Jiagaall

6- Carbon: used in positive electrode of battery — dry cell 4 dadl

7- Oxygen: used in metal welding —rescue work

=«
—
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Apilassl) g Al 5810 ) il
Lesson 4 Physical changes and chemical changes
Cpalbuaall C GAN < jad ¥ )
Physical changes <l 3 i s15a) ) Lgiakd g 48 55 cube) 13) @ Jlia  Joas

chemical changes 3¢ Lgd sy Cuad g 48 )5 cudas) 13}

: matter J ©ias Jsad &R

LSl B il Gy 38— Lghaud g Lpailad o L83 o) matter J) cesUaiad 3
appearance W g 3 shape

13¢3 (s al ) structure A3 Lgus 5 Je B38las (gisl g

Physical changes
Physical changes ([ 4lis) AU puda gill
slall daailly jlguail) g il g il ddes — Sl gada — (3901 o) uidl) adab
— 218 a) lgual) — ATV S padid) Aakad jlgual) — @l lguall — Anadd) jlguall
AUl el delia — calaal) iy A slad) B lal) o Sl ol gd
A By padi I a3y Ladie Amadll — Adlygd die daakay Bidia) jSad) : LaY
skl g bl a8 ATla e ke s — e b g B W agad A Laie sl

B B ) Gangalg — A jeliall o) JSAD) B At ga Galald) panld | 1XSa
. daa Bala ) Jeadialg ASfal) LS

—“
—

PO PPV IOV E



i
$
@
@
¢
¢

Q.QQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQ:

Physical changes: It is a change in appearance and shape of

matter without any change in structure (properties)

Gdag al — 094 = Without

Examples of physical changes:

1- Melting of wax ( candle) — ice — chocolate S

2- Grinding of sugar — salt — chalk _s&bhll — mlall — Sl ¢l
3- Dissolving table salt — sugar in water (ks

4- Malleability — ductile of metals (bl Ju8dig &

5- Freezing — evaporation — melting - condensation of water
6- Cutting of paper — wood into small parts

7- Paper — plastic recycle alal dale

-
o~
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Chemical changes: It is a change in shape and structure of

matter producing new substance with different properties
Calide qus i g1 Lgd Baan ala Lidana a3l g JAI) By ga

oe Lalad Cilida g2 g aadll o) dlall o) Guddl) ) 48,6 (5 a 1 ALial
i) g 48 51 s

Aaall cus 3 e Adlida o ell) Ay Bala ¢ 68 waal) jaa

(oo Ol — Ganl) ) ) S 580 (5 AliSn e phany L) Jus
() o) (oSall oo Al 5ale ) a3 delia
Clandl i gSa o Adlida Babe et Cyilaall 5 uadl) ALl

alakal) il g€a (e Adlida Bala e alakal) aiap

Examples of Chemical changes:

1- Burning (combustion-charring) @~ of sugar — paper —
candle(wax) — bread — wood (any burning)

2-Iron rust &l jua

3- Production of yoghurt L gl

4- Rotten of fruits  4gSWll (el

5- Adding yeast to dough  (slaall 3 i) 43Ul

6- Digestion of food  alakll aad

Melting of candle (wax) is physical change but

Burning of candle (wax) is chemical change

“
(o]
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Note: 4 sala
Iron need oxygen gas and water to become rust

slall g CuamiSY) 392 9 zling Laal) jaa

Give reason:

1- Burning of sugar is a chemical change.

Answer: Bec. It change in structure make new substance with
different properties

2- Melting of ice is a physical change

Answer: Bec. It change in shape and appearance not in structure

Write scientific term:

1- It is a change in appearance and shape of matter without
any change in structure (properties)

2- It is a change in shape and structure of matter producing
new substance with different properties

Answer:
1- Physical change 2- Chemical change

-
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Universe

Unit lessons
1-Stars and planets
2-Motion of sun and earth

3-Motion of moon (g
4-Atmosphere and weather




Lesson 1: Stars and planets — «sisslisagadll

1 O 48 e g star e La dipd S stars agadll (uodia V)
Blag 5 g i disaaa sl star O ) - stars (s 83l g A sun oeedd)

23S Lgd g8l (San — aaal) 4ilida JICEI L Stars

Stars: They are lighting bodies emits heat and light with different sizes
in the space stz

Lighting = shining .-
slacadl (& 5 a1 5 Ga N g 8 idall Jia — Us 1aa Basay LY — Jan S Lgaaa () 0a a8 1l 1an B s asadll (58

Give reason : Stars seems - look very small to us

because they are very far from us

dpwadl) de garal) oo (V) plSiin SOlAr system Ji e sl cuilisstars

Lpuadll ds sanall SOlAr SYstem cuwadd ¢ gssisun «sis< 8 - 8 planets .é - moons

Lilab aual scelestial bodiesaisia - a8 — @il — ugdd) Jia

Solar system

4

[ 8 Planets ] Celestial
bodies

I |
[[Asfer'oid ] [Com[—e'l'J] [[Me'l'eor'] [[Me'l'eor'oids




sun geadd) Ay fayi

a- Sun is the center i« of solar system

b- Sun is a shining - lighting .=« star

c- Sun radiates (emits) &< light and heat

d- Sun is the nearest star to us W axi ¢ 8l
e- Sun is the star of the solar system &l de gaad) b yagh sl
f- Sun is medium size star sl bhagsic a

g- Sun is the biggest - largest body in the solar system L. e gl i pur s

Give reason: Sun is a star.

Answer: Bec. It emits heat and light
Ll a8 L — AN asadl) U (e S LD i Ll ) Ja sial) Gundl paa (3o iy

Give reason: Although Sun is a medium size star it seems the biggest one

to us.

Answer: Bec. It is the nearest star to us




solar system (sun+8planets)

PIanets| They are dark bodies revolve around the sun in fixed oval orbits aiti Ollao g unsiil Jeo- (w&o"mdn&i ©®

nearest c s ¥ farthest

e 30l wdl i)l Aoy welsl  Osid
Mercury Venus Earth  Mars Jupiter Saturn Uranus Neptune

sun

red Star @ ‘

and heat

OO JaoYl S ol et aglo Olals. ob &t
smallest Biggest colouredrings  coldest

8 6 2 3 4

Size order aoaJl cuii

uadd) 5 guda usat g 5 gudal) o Juand Aallia aluca) Jlad) g Sl g8l (81 — Aipian alusal o gl — 8158 (o o) Al

4 duald B jla Al (bedia JS gl A Jie — Culd o glian s — lda B Guadd] Jga s ) eSl

Lallia sl ds> L i laa

Planets | They are dark bodies revolve around the sun in fixed orbits

uadd) (8 1Y) A Guadd) (a8 (S g8l Gl 5

-There are 8 planets are arranged from the nearest to the farthest from

the sun as:

Mercury- Venus- Earth- Mars- Jupiter- Saturn- Uranus and Neptune




paall 3 ¥l N aaall L3 Y] (e o) g8l

-There are 8 planets are arranged from the biggest to the smallest :

Jupiter - Saturn - Uranus - Neptune - Earth - Venus - Mars -Mercury

Jaa dage asdlia

1- The nearest planets to the sun is Mercury <2

The farthest planets to the sun is Neptune
The biggest planets is Jupiter <Y
The smallest planets is Mercury <Y

5- Earth is between Venus and Mars




Mercury il o iy — Earth 4ie (i s1) - Venus s deY) — W sl paibed 41 planet ) osss g
Neptune a.i4s - Uranus sz jis - Saturn sk clils 4 - Jupiter sy — Mars se 4

The planets of the solar system:

Identify the planets of the solar system:

Mercury Venus

The nearest The most beautiful
planet to the sun planet

The earth
The plant where
we live

Mars

Jupiter
Known as the red planet

The biggest planet

Saturn Uranus Neptune

kA big number of The cold planet
Colored rings which
rotate around it

The blue planet




«_\S\jﬁ\uA;\.ALd\OM\—%JY\P%—WMUSSJ)S)LW\«_\SJSQM B

Give .Reason/scientists do not classify Pluto as a

—

Because of its small size whereas its size is less than one fifth of

planet

the earth's size.

&l s s
Moons They are followers to the planets and revolve around the planets
sk

Moons Dark bodies, reflects o« the light of the sun so it seems shiny

Moon Is the nearest neighbor to us in space L il slail b s o

Give reason: The moon is a dark body, but it seems shiny - light

Because it reflects the sun light o«




Star

Planet

Moon

1-Tt is a shiny body.

2-It emits heat and
light.

3-It rotates in the
space.

(apparent rotation)

Ex: The sun

1-Tt is a dark body.

2-Tt doesn't emit heat
or light.

3- It rotates in space
around the sun.

Ex: The Earth

1-Tt is a dark body.

2-It reflects sunlight
falling on it.

3- It rotates in space
around planets.

Ex: The Moon




==

Lesson; 5 The movement - rotation of the sun and earth camsguwanisa

/

Bpatna 4S 2 Ala B JLadY) g S) 9! g 2 gl Jia Ailiadl) sl

Celestial bodies: The stars, planets and moons are in a continuous rotation

Give reason Why Sk

The sun is a star but it seems larger than the other stars

because it is the nearest one to us

l‘ 1- The rotation of the sun (widis s \I

:M‘kﬁ‘}Y3‘mJu

SR N A — ATy A e G55 Waa ALY G el ) S Lesie

axis - itself Lgwdi dga 092 A A G2 ¥ AlaY) pa ¥ o) dadi Al A (uadd) oSl
the apparent movement of the sun gaeddl (s ) 4 AUl A8 al) eawd dlX
048 LSS Saa

The apparent rotation of the sun:

The sun seems to move from east to west

Give reason-The sun seems moving (rises) from east to west

Answer: because the earth rotates around its axis (itself)
( not due to the rotation of the sun )
4 allal) (uadd) A ja o) — Lgwdi Joa V) () g0 a9 L) shadow 9 JBY (st

Give reason-The movement of the shadow

Due to apparent rotation of the sun (rotation of Earth around itself)




Rotate = revolve _su

pofe el oa N

day and night Jgills bl sequence Bl qu 138 9 (asall) 4ol Y€ A axis Lewdi Joa 892 )
south hemisphere s> 5.8 ciais— north hemisphere (fuad S ciual (s 985 (a ) oY dlldg

Sl (s el G ) AW £ 3adlg — 1 5 5adl 138 (68 (adl G I (553 4al gy Ladie

four seasons 4 ¥ Jsaill sequence Bl ey 13 g Al — (2aug pse Y1 0) (B Guaddl Jsa 890 =Y
iy Al — gl — LA — Ciuall Jguad £ (e (98T Adad) Y

Four seasons: Summer - Winter - Spring - Autumn (Fall)

E 2- Rotation of the earth =¥ oy

a- Rotation of the _] b- Rotation of the

earth around the sun earth around its axis

|

[[Sequence of 4 seasons ] E Sequence of day and night ]

/ -The earth rotates around its axis - itself once every 24 hours\
causing day and night

-The earth revolves around the sun once every 365 and quarters a
day causing the sequence of the 4 seasons

\- /




Give reason:

1- The sequence of day 4 and night
Answer: Bec. Earth rotate around its axis every day ss:
2- The sequence of four seasons

Answer: Bec. Earth rotate around the sun every year

North Pole

Sun’s rays

South Pole

Direction
of Earth’s
spin

TN

Jila Ji Jeiaa ud Earth axis oa¥) ssaa 0¥ — night Jlll clela axs ¢ sy day el ol 2

Give reason -The hours of day is not equal to the hours of night

because the earth axis is inclined Jia

Earth axis is inclined

L) & el e Jshal ) g9 — i) & Julll (e Jsbl el el s 58

iy Al g )l A Gl Clela dae o gl Ll clelu 23e 058

Day is longer than night in Summer
Day is shorter than night in Winter

Hours of day are equal to hours of night in Spring and autumn (Fall)




Complete:

1- The rotation of Earth around its axis - itself causes the sequence of

3- The Earth rotate around its axis once every ..............
4- The Earth rotate around the sun once every .............
Answer: 1- day and night 2- four seasons 3- 24hours

4- 365 and quarter days

sVl B dda Jghal cipal) B LA (uadll jlae (¥ sUBEN g Ge J sk cinall g

Give reason -A summer day is longer than the winter day

because the apparent orbit of the sun in summer is longer than the

apparent orbit in winter




S el ase g Jull) el a3 Gluea i8S

l How to determine the length of day and night? l

ol Aslwdel B — Qg alldsludel @ = el - cloluw dae — Joh ibual -

Al (B g 39 a Tan el Y
M dsh—delu Y = Ll - clelw ase- Joh cibuad Y

S+ L asal) Y — Sl @il — (Asba Y£) asddl e gl Clelu die 7l A3

1- The length of day = Read of sunset [hour: min] - Read of sunrise
[hour : min]

2- The length of night = 24 hours [24: 00] - length of day [hour: min]

17:00 0585 gl B plas duadl) dobud) — 5:00 05<8 Lalua Aualidl) dolad) ; By

Example

Time of sunrise Time of sunset

Hour minute Hour minute

6 43 5 43

1- The length of day = Read of sunset - Read of sunrise

The length of day = 17 : 43 -6 : 43 = 11 : 00 hours
2- The length of night = 24 hours - length of day
The length of night = 24: 00 - 11 : 00 = 13 : 00 hours
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Lesson! 3 ; Motion of the moon i dn

Y

wﬁM‘M\QﬂMMY—WMﬂC’ﬁA&MJ&\

Give reason: You see the moon shining although it is a dark object.

Answer: Bec. It reflects sunlight that fall on it

psr YA JS 0¥ Joa sty - Al Jsa ot el

Rotation of the moon

Around its axis s Js> Around the earth oY s
Andl Joa —

The moon rotates around its axis - itself once every 28 days

The moon rotates around Earth once every 28 days

1- Rotation of the moon around the Earth

The moon rotates around the Earth in a circular path - orbit once
every 28 days ( lunar month ) s e

Yy

_— High Tide Area

Earth @-— Low Tide Ares

AN e — s B Oa M) Jga el 0

14




Ay

L 5aa g — Ll Jga 02 ¥ Ol sd 82 1 a gl
wa ) Jsa bl Ol ea o) — o9 gl — Al (s Hall) ) 598 98 1 gl sgdd)
ouadd) Jsa ga ) Glog sa Adud)

Complete:

1- The moon appear shining because ................

2- The moon rotate around the Earth in ............ path (orbit) once

Answer: 1- it reflects sunlight 2- circular - 28 days

s AAEA PS8 (b pal) s 5 s 20 4 IS AN Jon pall) )y A

Moon phases <l 4a g

Give reason: The moon has different phases

Bec. It rotates around the Earth once every 28 days

/

What are the phases of the moon?

--I][]




Phases of the moon

- (p52Y) first crescent U ai — new moon Lelai allia g2 g jadll  seda fay

(4 V) half moon . diai s first quadrature Js gus o

(a2 V) ) e gl &35 ) first gibbous qual A

(a5 V¢ ) middle of lunar month e il diaiia & full moon L A
(a3 VYV ) A B (e £l &30 ) second gibbous g Al

(f% YY) half moon & ciai caw second quadrature U gu s o

second crescent iu LS (a3 g

S®®O

New Waxing First Waxing
Moon Crescent Quarter Gibbous

OO

Full Waning Third Waning
Moon Gibbous Quarter Crescent

© www.nature-vwwatch.com

New moon: phase of moon when it's completely dark Lleleialkie

Full moon: phase of moon when it's completely lighting (els s

Full moon: phase of moon in the middle of lunar month sa¢/ ¢d// cdwaiis

Write scientific term

1- Phase of moon when it's completely dark
2- Phase of moon when it's completely lighting
3- Phase of moon in the middle of lunar month

Answer: 1- new moon 2- full moon 3- full moon

16




ade oA Y i — Jlua— Jlaa b a ¥l Jsa sy Bl Jrag sdlila
4.'\9GJ&SY@&—JM—J\MQM’JJ&JJJS&JSY\GT\SUS-“JU'AJY\J»\*‘_QM\LA

uacal) g S 58I (g — (N9 palll Cp — Andlad) — udad) 548 gA )

attraction force - gravity 4xiall 3@ ceuiy

(2 = sadll — (uadd) ) Luiladl) alua ) G cida (598 da gy 7 08 lgiiST (4Saa

There are attraction forces among celestial bodies:
1- The attraction force between Earth and Sun

2- The attraction force between Earth and Moon

Give reason: Earth rotates around sun in definite (fixed) orbit (path)

Answer: Due to attraction force (gravity) between them

Give reason: Moon rotates around Earth in definite (fixed) orbit (path)

Answer: Due to attraction force (gravity) between them




AN Ao Sis ouaddly M) Gmy — 0a Ny sl G dad) 568 asa g A

Tide and Ebb Lially aall 8 aliy acs La Jaxy 2slilly

oA il s B AN Guadd) LU (e g g8 Jdadlg el B Gl Y e ) il

Sallg aal A pa N e jalll g (uaddl (e S G il B8 (e A3l 3 jaUal

Phenomena resulted from the attraction of both the sun and the moon to
the earth

(eblal) il jand) ol (g gl £l ) g2 :Tide 2ol
A A AN B oball g2y 52 1 Ebb Ui

A Ba all agd S D £ 7 AT A g Ao sally Lggadi (Sas

[ \ (e )

Is the rising of water level to It is the returns

covers the seashores back of water to its

o A (sS Laie Aa s et b sl gLy gl sl %y normal level after
a4 el oaie the tide

the maximum Tide - rising of
water level is in the full moon

phase in the middle of lunar month

Give reason: Occurrence of tide and ebb phenomena Lialls 2all 5 als & gaa

Answer: Due to attraction force between Earth and moon

18




Why the tide and ebb happens?

It is due to the attraction force between the earth and the moon and
between earth and the sun

but the moon is main reason for tide and ebb because it is nearer to the
earth than the sun

&ﬁuﬁJﬂ‘d&SJSQDSAJ—&AJJAS\O‘JJJEAMDM\@JM\M@M»&AJJAHJJ:\G

(SLsh gl ) acd) ie o1 gd) o) slall plB 5 58y Jandi 7 ) a)
sl Sl ZUY jdad) g dall L& elal) pLON) (ha Bl podiiead L) Q3 na

Activity -put a plastic fan under a water tap and let the water fall

Observation: the tap water rotates the fan this is the idea of the
turbines

-The turbines are rotated by the falling of water or by air pushing to

produce electricity

The benefits - importance - uses of tide and ebb: Jialls sl 3aild

1-Generating electricity: skl gl

the moving of water during tide and ebb makes the turbines rotate and
produce electricity

2-Cleaning the coast: ihiga i

water carries the wastes < from the coast to the sea

19
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| Lesson! 4 The atmosphere and the weather (.- s cisiy

N e e e e e e e D e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e 7

el sl (o ging Al Ml — cland) — (5 s CDlay ddalaa a Y

The Earth surrounded by the atmosphere

oY) dsa @l e de gana e s (5 sall D)

Atmosphere: it is a mixture of gases surrounding the Earth

(515¢))) &gl b)) @l s<a

[[ Atmosphere - Air - components D

g

Nitrogen | Carbon dioxide | other gases | Water
vapor

78% 0.03% 0.79% changing

4
)

Complete :

1- Oxygen gas represents Of the air volume

2- Nitrogen gas represents Of the air volume

3- Carbon dioxide gas represents Of the air volume
- 4- The atmosphere consists of a mixture of

Answer: 21% - 78% - 0.03% - gases




Importance — uses — benefit of :

1- Necessary for 1- Green plants use it to ||1- Decrease the effect
respiration of living make photosynthesis of oxygen in combustion
organisms. process. Ssall sldldlee [ (burning) .

2- Helps in burning of 2- Use to make soda 2- Used in making
fuel. water. ammonia and nitrogenous

fertilizers
3&»‘}“) JJLSJ\ Jac ‘ﬁﬁ e.‘\;.u.u:i

3- Divers use oxygen 3- Helps in fire
cylinder to help them extinguisher (put off)

breath-respire under because it doesn't burn.
water G Y a4y @) all oLkl 3

el Can il ) sl Aaling
4- Tt is used with Give reason: Carbon
acetylene in cutting and | dioxide is used in fire

welding metals. extinguish .
Bec. It not burn



http://www.google.com.eg/imgres?q=welding+metals&hl=ar&biw=1366&bih=619&gbv=2&tbm=isch&tbnid=tPTj56V41uolgM:&imgrefurl=http://www.mach-eng.co.uk/&docid=11J9OWacvuxzGM&imgurl=http://www.vinylworm.me.uk/mach/Mach Precision Engineering Images/Welding Metal Fabrication Home.jpg&w=490&h=490&ei=TA26T5_0NMazhAeE0oX1CA&zoom=1&iact=hc&vpx=205&vpy=264&dur=490&hovh=225&hovw=225&tx=138&ty=158&sig=101156881458136510821&page=1&tbnh=130&tbnw=129&start=0&ndsp=21&ved=1t:429,r:12,s:0,i:93
http://www.google.com.eg/imgres?q=welding+metals&hl=ar&biw=1366&bih=619&gbv=2&tbm=isch&tbnid=tPTj56V41uolgM:&imgrefurl=http://www.mach-eng.co.uk/&docid=11J9OWacvuxzGM&imgurl=http://www.vinylworm.me.uk/mach/Mach Precision Engineering Images/Welding Metal Fabrication Home.jpg&w=490&h=490&ei=TA26T5_0NMazhAeE0oX1CA&zoom=1&iact=hc&vpx=205&vpy=264&dur=490&hovh=225&hovw=225&tx=138&ty=158&sig=101156881458136510821&page=1&tbnh=130&tbnw=129&start=0&ndsp=21&ved=1t:429,r:12,s:0,i:93
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http://www.google.com.eg/imgres?q=welding+metals&hl=ar&biw=1366&bih=619&gbv=2&tbm=isch&tbnid=tPTj56V41uolgM:&imgrefurl=http://www.mach-eng.co.uk/&docid=11J9OWacvuxzGM&imgurl=http://www.vinylworm.me.uk/mach/Mach Precision Engineering Images/Welding Metal Fabrication Home.jpg&w=490&h=490&ei=TA26T5_0NMazhAeE0oX1CA&zoom=1&iact=hc&vpx=205&vpy=264&dur=490&hovh=225&hovw=225&tx=138&ty=158&sig=101156881458136510821&page=1&tbnh=130&tbnw=129&start=0&ndsp=21&ved=1t:429,r:12,s:0,i:93
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1- Oxygen gas:

1
e It represents about 21% ( s )of air volume.

e The main source !l )xadl of oxygen on Earth is the
photosynthesis process - green plants.

lime water _all sl axiis carbon dioxide 4 aa s ¢ sedl o)) <o sill
).._\;J\ ela Say Yy

I 2- Carbon dioxide: make lime water turbid - milky I

I e Lime water is used to test- detect < =i carbon dioxide. I

Carbon dioxide produced from burning and respiration
oadiill 5 (3 yia¥) dalee (e i (50 S sl U

3- Nitrogen gas:
e Itisthe most abundant 4w sl gas in the air as it represents

4
78% ( s ) of the volume of the atmosphere.

4- Water vapour:

e The humidity of air depends on the amount of water vapor
o sell Ll Hlay A€ e aaiad Ay gha
e Give reason : Drops of water on a glass filled with ice
Bec. Air has water vapor &b e s siad G dala 31 e ele il jlad () S5
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Weather ikl

£ o) Y juad cdg b dadgiall gal) s g2

Weather : Is the expected conditions of the atmosphere during a
short period of time not exceeding one week

Weather factors bl Jalso anid (plally ddafi pa astlia day ) Al 33 G 4 (ulal) Alls 43 ool

The
weather

factors




1- Temperature 3l 433 ¥ o) Gutin

(alll) s suaall s — (gl (oadind) 30 ad) Ao 3 (o piics

-
Bl 5 2l 450 Maximum temperature

kThe expected temperature during the day time _ii/ ssiat s

r
Minimum temperature <l - Jdll sl 5,0 all da

The expected temperature during the night time
.

(digital <29 5l mercury (853 ) Jiega il (ulds 30 el da

Temperature Measured & by

Mercury thermometer or digital | secee
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Activity: Bulalall g drdag (3 Alhl g pliay 4B ) g et g oS B sl g

-Fill a cup with water completely then cover it with white paper, then turn
the cup upside down

Observation: Water does not fall from the cup wush oa iy sl

Conclusion: the atmospheric pressure equals to water pressure in the cup

gl bl (o gbun sl JAN slall i oY
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- There are places with high atmospheric pressure and others with

low atmospheric pressure

Wind: Is the movement of air from high
pressure areas toward lower pressure
areas

addial) hdal) (ghalia ) adi yall Jaiall (3hlia 0 £ ggd) ASpa A 1 LY

*The speed of wind causes the rising of
waves of the sea s gl cud gl de

Wind measured by < .

Anemometer measures wind speed

e gl pansy g gLl AS e (il

Wind Vane determines the direction of the wind

Zhl) 5153 (a4 (o o — alladt) £ slad) aay
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Formation of clouds

The sun rays
evaporate the water
changing it into
water vapour then it
rises in the sky ,
cooled and
condensed forming
clouds
Geadl) Jag Laie 1 cuaad) (3585

Al elall Ay ) A gaia olsal)
) A5 g8 ST g 3y, sl
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I

,Clouds and rains

FURNEARW

Falling of rains

Winds move the
clouds then it
changes into drops
of water as rains

slall ) J sl caaad) & a3 7l )
Jtaa) 4 ¢Sa

I Clouds and rains formed by evaporation and condensation of water vapor

plall JA (Ei€g A At < jUaaY) g coad)



http://www.google.com.eg/imgres?q=clouds+and+rain+clip+art&hl=ar&biw=1256&bih=521&gbv=2&tbm=isch&tbnid=tWdYIRaE994NHM:&imgrefurl=http://www.arthursclipart.org/nature/nature/page_03.htm&docid=TLP-rCyYqns1_M&w=1119&h=973&ei=Vc9HToacGonJsgafyvm5CQ&zoom=1

oudlally Lisl) danl

The importance of weather prediction

People follow the weather forecast in T.V in order to face some conditions

as: $lad) 525 An) i S () LA ali (uldl
1-If predicting a lower temperature - people should wear heavy clothes
ALE Gudla il — 3y Gulll) (585 Lasis

2-Predicting strong wind below, sea waves rises up, fishing boats are
advised not to sail

sual) adny pual — g gal) (i 48 Tl a5 23

3-Predicting a foggy morning - car drivers should slow down ,to avoid
accidents

Gl gall quiatl Aoy Sl ¢ A Sl Gl 352 die
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